= O
N & o & AF &2 H Ml A
2011EE Z0Ia LB, JIEISEE ASD ~ A5
SH: ASD
=L RS T IS
Sl SERNSRNA (e @
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il b o B2
A= D} 3,652,918 3,211,463 441,455
=S TSI 3,468,784 3,078,209 390,575
SEZHBAMM 329,200 194,200 135,000
SEFUNY 319,200 184,200 135,000
202 01t 4,200 4,200 0
01 =2Uoibl 4,200 4,200 0
ORI (sEZSOHZ =F oY)
70,0002 %591 +122 4,200
308 XHXIEHH SOIH 315,000 180,000 135,000
05 RXISHALE 315,000 180,000 135,000
SEFSNTET AUIRYS
50,000,000 %30S *21/100 315,000
SEURFY 10,000 10,000 0
402 Q12X 0|F 10,000 10,000 0
01 QIARZRE 10,000 10,000 0
Os =& FY| 1,000,0008*105 10,000
AHFE Y (FLUAS SN 2,817,624 2,680,649 136,975
SHSHOIIE AlLR4 100,000 150,000 A50,000
401 Al&HIL 20| 100,000 150,000 50,000
01 Al&l 100,000 50,000 250,000
OSHSHMOIIE AlZR4 100,000,008 *14] 100,000
At L BoIFee 28, 110 65,610 A37,500
201 Ygreg| 21,390 8,890 12,500
01 Attt 20,500 8,000 12,500
O1 ger2gH| 20,500
> DURLR BELE
2,000,00021 * 10K CH 20,000
> E2SOITIE AUE DM L
5002 *1,0000H 500
02 IT2Y| 890 890 0
O1 2222 ¥ HAl 890
>EXHSS#AUNOIIE 22|t
50,0002 * 104 CH 500
>EISSOIIIE SRS 2
3,9002 10041 CH 390
202 01t 4,800 4,800 0
01 2UoiHl 4,800 4,800 0
ONESX ¢ AU2 M=ot
200,0002 x201 * 122 4,800
402 Q12X 0|H 1,920 1,920 0




SN AL
o =) 8@
Sl ATIFEES YRR (FHUALSHIH) (25l &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &k il b o bRz
02 DIZFHE AL b 1,920 1,920 0
OtHed UUOIME SHLHEY
1,600 * 100Kl CH* 1241 CH 1,920
R 2,689,514 2,465,039 224,475
801 0OflHI ] 2,689,514 2,465,039 224,475
01 it bl 2,689,514 2,465,039 224,475
ool bl 2,689,514,00021*14] 2,689,514
Zsxe FHNL 303,360 203,360 100,000
=R R RPAL! 303,360 203,360 100,000
202 o1t 3,360 3,360 0
01 2UhoiHl 3,360 3,360 0
OZUH0IHI(BSFE #ZFA 0fHl)
70,0002 %491 % 128 3,360
402 RIX 20 300,000 200,000 100,000
QIR 300,000 200,000 100,000
OZESFYAILY N 300,000, 00021 * 14! 300,000
SNEEETH 3,600 0 3,600
ENESEEETT 3,600 0 3,600
202 01t 3,600 0 3,600
01 2UH0iHl 3,600 0 3,600
OSAIFEHSZIH FX0iHl 300,008 128 3,600
ENES EE=BI 15,000 0 15,000
SAEIE ALY 15,000 0 15,000
401 AIZHIL 2O 15,000 0 15,000
01 Al 15,000 0 15,000
OSAIPIZ SAFY AY 15,000,008 14! 15,000
zede o 29 48,586 47,706 880
ASHFET 48,586 47,706 880
Azyzey 43,486 42,306 1,180
201 LByl 31,106 32,226 A1,120
01 AR eIl 13,990 15,110 A1,120
O1 L8| 3,000
PASHIEAZA U SHOIALHY +42
15,0002 *40024 #50/ 10021 3,000
03 2944 10,990
S OE2C R 10,990
OAZHoIRIAB AL 2T
70,0002 +821#153] 8,400




FA: A
El

FH: FeAd U 29
SRl A=SHEH =X (St &=
_ _ HE T =
2AH -3 - SH2A(SH) - MEAMY - BHES Ol AFoH @E% Hl =2
OZ2STHU2HMIHAZ| MO L
70,000 1091 % 13| 700
OUNTHEMIHAZ o4
70,0002 x701 %13 490
OS2 UIAAIRI G| Al O] Gt
70,0002 *821 %13 560
OZSFep| XA At
70,000 «621 %23] 840
02 2224l 17,116 17,116 0
O3 Al ZH| | XIHI 17,116
D> =2AI| X 500, 0002 x4 83| 16,000
>oI=E)| X 396,000 =1CH 396
D>FAX S Xl 30,0002 x2CH *123] 720
202 OfH] 10,080 10,080 0
01 2oy 10,080 10,080 0
OZUGHI(A=SS SEXZ A oHl)
70,0002 1201 122 10,080
405 KHAHE SH 2,300 0 2,300
01 ML SEFSH| 2,300 0 2,300
Oe=D| 2,300,000 »1CH 2,300
HA=2 |22 5,100 5,400 A300
201 LEt2HH| 5,100 5,400 A300
01 AFRZt2lH] 5,100 5,400 A 300
O1 Yekx==H] 5,100
DA IIE X B HI= 17,0002 x30024 5,100
Hess 50,000 0 50,000
BEINES(ZHAAELSIH) 50,000 0 50,000
LS 50,000 0 50,000
802 BrE2D|E} 50,000 0 50,000
03 WRY=ES 50,000 0 50,000
OCHHSEOIIIE YdUWEES2 Brat2
2,500,000 x20 Ml CH 50,000
HE2HAH| 85,548 85,548 0
ol 2AH|(H=) 46,980 51,180 A4,200
old2dH|(H=1) 46,980 51,180 24,200
101 Q14 46,980 46,980 0
01 B2 46,980 46,9380 0
OAlZ2tel 2824 7,45724%2121%300A1 2+ 46,980
Jl2dH| (A=) 38,568 34,368 4,200
Jl2zH(As) 38,568 34,368 4,200




[}
R’

ok
ol

(e} ([e) ([e) ([e) (e} o o
o (@]
NN
~0 < | <
Klo
=
D
[ee] [e0) (@) (e} () (e} (e}
(@) Al [ee] © «©
S |© ! SRS
© | Ql 0 o |
LH3r
m<l
KIS
[e0) [e 0] o o [e0) [e 0] [} o o (e} () (e} o o o
(@) Al o o [aN] Al QQ QQ QQ © © © o (@) o
S| & o0 © 0 0|0 ||
3
<
=
ol ofl ofl ofl ofl
[aN} [aN] [aN} [aN] [aN}
* % * % ¥
or [0 o] Y [od o
o [aN] o o o
X0 S 3 & S S
- O. x - -
S 3 o 3 3
. N~ x o 3, (ap]
al @ 2 -~
o S =
=< <
I+ N~
=
0 S E=]
= = B - R
= S = R K
1o} T D o ° 0 KF DR
oF oo o0 mﬁ no o <+ oF 3D
3 Tz < 3T- " T A A O | = | a0 80
B |mo B B W0 Al B0 M @ o 3| RI|8 OH
- O |7 o o M & o Mo oF = WKW X
R0 a|l<x O O 0 O S| O | O
° — | — aN] o | = ™ | =
< S < KR |° S
-




